S M5 €7 A8 3 H

AKERFIHEIESEHFER
B E K @B &£ #H
SHSEE FEERET(BMRE 254 EZRBB) FEE
B EEI—R
1. IRADER = : 5D ==X !
3 = g | — Z =
LEEEE T I PY ok i
= Y E 136,500 6,500 6,500 [ x 21 &
= il 136,500 6,500
2. XHDER B {1 M
*4 E % *)J _A&-)T:U B Eﬂ
T H B (X H % EE%E‘H%IEE £ +%8
o e T A ; 6,500
RBRREHHRAE 1365000 65001 ep XM, PPISuY )
& Hi 136,500 6,500
HBHEHEI—X
1. IR A DER = : 57D ==X vd M
: n T - -
MLENEE I PW i U
= IR Eoy 69,600 8,700 8,700 H x 8 &
= il 69,600 8,700
2. XHDER _ B {1 M
%l 5 = | —AHTY iR BH
T H % iﬁ%ﬁﬂmﬁ] E‘Hﬂ& £ £%8
o B i 5 A o IFHEES ; 8,700
REBXEHMAA 69,60 81001 (FH) L EBIR. FAST T _1B)
= il 69,600 8,700
EHI—R
1. IRADER = : 57D B 41 M
Y = g | — - o
LEEEE I PY ok i
= IR E 6,300 6,300 6,300 9 x 1%
= 7 6,300 6,300
2. XHDE B {1 M
*SI' E % *)J _A?'ijf:") EH Eﬂ
Y H B |(X 1 % o &R £ +%8
a B 6,300 6,300




